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����������
	�
���
	
��������������������������������	
� ���!������"�(#
����)�

�$�����
�����.�%�2551�

������ ��	
���
����  
������
	  ( ºC ) 

���
��
� (%) 
������ ������� ������ �� 
��!�" �� 
#� � 

1 - 20.8 13.0 16.9 12.6 13.1 95.0 

2 - 20.3 13.6 17.0 12.9 13.5 93.0 

3 6.0 19.5 11.8 15.7 11.5 12.2 93.0 

4 - 18.8 10.9 14.9 10.4 10.8 95.0 

5 - 18.7 11.6 15.2 11.0 11.5 95.0 

6 - 19.2 11.4 15.3 11.0 11.4 95.0 

7 - 19.2 10.8 15.0 10.0 10.5 95.0 

8 - 19.2 11.0 15.1 10.3 11.0 92.0 

9 - 20.6 11.4 16.0 10.2 10.8 92.0 

10 - 20.5 11.0 15.8 10.5 11.0 95.0 

11 - 17.0 10.0 13.5 8.0 8.1 100.0 

12 - 17.5 9.5 13.5 9.5 10.0 95.0 

13 - 19.0 9.5 14.3 17.5 18.0 96.0 

14 - 17.5 7.0 12.3 7.5 8.5 86.0 

15 - 17.4 6.2 11.8 6. 5 7.1 91.0 

16 - 17.1 7.5 12.3 18.0 18.3 98.0 

17 - 18.5 9.3 13.9 9.5 10.0 95.0 

18 - 18.5 10.5 14.5 10.0 10.5 95.0 

19 - 20.5 11.0 15.8 10.5 11.0 95.0 

20 - 21.8 12.0 16.9 11.0 12.0 88.0 

21 - 23.2 12.3 17.8 11.0 12.0 88.0 

22 - 22.5 12.5 17.5 10.0 10.5 95.0 

23 - 23.4 12.7 18.1 12.1 12.6 95.0 

24 - 23.5 12.5 18.0 11.0 11.5 95.0 

25 - 21.2 12.4 16.8 12.0 12.5 95.0 

26 - 21.5 13.0 17.3 12.4 12.7 98.0 

27 - 22.5 14.2 18.4 12.5 13.0 95.0 

28 - 25.0 14.5 19.8 13.0 13.9 91.0 

29 - 25.2 14.6 19.9 14.0 14.5 96.0 

30 - 25.1 14.6 19.9 13.4 14.5 89.0 

31 - 24.5 13.6 19.1 13.1 13.5 95.0 

�
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�$����
������&
���.�%�2551�

������ ��	
���
����  
������
	  ( ºC ) 

���
��
�$(%) 
������ ������� ������ �� 
��!�" �� 
#� � 

1 - 24.4 13.5 19.0 11.0 12.3 86.0 

2 - 25.8 14.2 20.0 13.6 14.0 95.0 

3 - 24.3 16.0 20.2 15.7 16.2 96.0 

4 - 23.5 15.5 19.5 14.5 15.3 91.0 

5 - 23.6 13.2 18.4 12.7 13.0 98.0 

6 - 24.3 15.1 19.7 15.0 16.2 87.0 

7 - 24.5 15.7 20.1 14.9 15.8 91.0 

8 - 24.7 15.8 20.3 14.8 15.5 93.0 

9 - 25.2 15.5 20.4 14.0 15.4 85.0 

10 - 25.2 16.0 20.6 14.5 16.0 85.0 

11 - 25.1 16.4 20.8 15.5 16.0 96.0 

12 - 23.4 17.5 20.5 16.1 17.4 88.0 

13 - 23.5 16.5 20.0 16.5 17.0 96.0 

14 - 25.5 15.2 20.4 12.5 15.5 68.0 

15 - 27.2 16.0 21.6 16.5 17.0 96.0 

16 - 27.8 16.6 22.2 15.6 17.0 85.0 

17 - 27.3 17.6 22.5 17.0 17.5 96.0 

18 - 29.6 17.6 23.6 15.6 17.8 78.0 

19 - 29.6 19.5 24.6 17.0 18.0 90.0 

20 - 29.3 20.0 24.7 19.1 20.5 87.0 

21 - 28.8 21.0 24.9 19.8 20.6 92.0 

22 - 29.6 20.5 25.1 19.2 20.2 90.0 

23 - 27.5 19.5 23.5 18.5 19.8 88.0 

24 - 28.5 22.2 25.4 17.6 18.5 92.0 

25 - 28.0 20.0 24.0 18.0 20.5 78.0 

26 - 28.5 20.6 24.6 14.5 15.5 96.0 

27 - 27.5 19.5 23.5 18.5 19.8 88.0 

28 - 27.2 16.0 21.6 16.5 17.0 96.0 
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�$�����������.�%�2551�

������ ��	
���
����$
(

.) 

������
	  ( ºC ) 
���
��
�$(%) 

������ ������� ������ �� 
��!�" �� 
#� � 
1 - 28.5 19.5 24.0 19.0 19.4 96.0 

2 - 29.0 18.6 23.8 15.0 17.3 78.0 

3 - 29.2 18.5 23.9 18.0 18.5 96.0 

4 - 28.5 18.6 23.6 17.5 18.8 88.0 

5 - 28.5 19.0 23.8 18.0 18.5 96.0 

6 - 28.5 18.6 23.6 17.0 18.2 88.0 

7 - 22.5 20.5 21.5 19.0 20.5 87.0 

8 - 29.2 19.6 24.4 18.7 19.3 94.0 

9 - 28.5 18.4 23.5 17.5 18.0 96.0 

10 - 29.0 22.5 25.8 19.5 21.5 82.0 

11 - 29.6 21.4 25.5 20.5 21.0 96.0 

12 - 29.5 21.5 25.5 20.0 21.0 94.0 

13 - 30.5 21.2 25.9 19.8 20.5 96.0 

14 - 28.9 18.8 23.9 18.0 18.5 93.0 

15 - 27.6 18.5 23.1 14.1 14.7 93.0 

16 - 26.1 17.8 22.0 15.5 16.5 83.0 

17 - 27.8 19.7 23.8 18.0 18.5 96.0 

18 - 25.5 15.5 20.5 15.5 16.0 96.0 

19 - 26.8 18.2 22.5 20.5 21.0 96.0 

20 - 25.5 19.3 22.4 18.0 19.2 88.0 

21 - 28.2 19.8 24.0 19.5 21.5 82.0 

22 - 27.7 19.8 23.8 18.6 19.4 92.0 

23 - 25.0 15.5 20.3 17.0 18.2 88.0 

24 - 26.7 20.2 23.5 19.0 20.5 87.0 

25 - 26.3 17.8 22.1 20.0 21.0 94.0 

26 - 25.6 15.5 20.6 14.1 14.7 93.0 

27 - 25.5 18.5 22.0 15.4 16.5 89.0 

28 - 29.6 21.4 25.5 18.0 20.5 78.0 

29 - 29.2 18.5 23.9 15.5 19.4 96.0 

30 - 28.5 19.0 23.8 17.0 17.3 88.0 
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��������#�
��
����
�'�����������(�
��)*) '��$���

 

1.$"���	����%�&��	
�����'���(����"�#'���)	" � 
      1.1 ���"��&#�%�������
�� 

1) ������������	��*"����	"�&$�+�	�
$4 ���#��,�$
2) �������#" �(�� ���-	)��	"������� 
3) �
��$Deionized 

4) �� �)$(Hot air ovent) 

5) "�%��."���/�����

�)��$(Nylon membrane) 0���$0.45 µm × 47 mm 

6) Syring filter Nylon 0���$0.45 0.45 µm × 13 mm 

  7) �������1��
�1�"��'!0������#))�
��2�%���$( High-Performance Liquid 

Chromatographic; HPLC) ���� �$Shimadzu ��,� LC-10AD 

8) ����
�&$HPLC (PlatinumTM C18 Rocket TM

9) ���"������",���0 �����
�&$(Platinum

, 53 ��1��
�� × 7 ��1��
�� × 3 

/
1���
��) 
TM C18 All-GuardTM

      1.2 �����
� 
 Cartridges) 

1) Acetonitrile for HPLC 

2) 

3) Caffeine standard 

Trifluoroacetic acid 

        1.3 �	3�"������� 
  1.1) "���	����%�&��	
�����'���(����"�#'$1������
���"��"�#'$
�"���� ��$
Filter membrane 0���$0.45 /
1���
��$4%/� �
�������,�����5� �
4%����0 ��������$HPLC ����,����
�	����%�&/� 
������)����)"�)�,�
����6��0��������'��� 
  1.2)$"�������
���$Mobile phase 1�����$Acetonitrile 130 
	��	�	��$"�)�
��$
Deionized 870 
	��	�	��$#�%��	
$ 0Trifluoroacetic acid

   1.3) Condition 0��$HPLC 1��$Column Platinum

 0.1 
	��	�	��$�0 �� ��"��$#� �"���� ��      

Filter nylon membrance 0���$0.45 /
1���
��$4%/� $mobile phase ��	
���$1,000 
	��	�	��$ 
TM C18 Rocket TM, 53 ��1��
�� 

× 7 ��1��
�� × 3 /
1���
�� #�%Detector UV ������
��������$280 ��1��
�� (� ����"��/��$
2.2 
	��	�	���,����� 
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2. "���	����%�&����
)��	�����
�(������,���	� (A.O.A.C, 1995) 

        2.1 ���"��&#�%�������
�� 
  1 ) ������������	��*"����	"�&$�+�	�
$4 ���#��,� 
  2) �������#" �(�� ���-	)��	"�������  

  3) "�%��."���$ Whatman �)��&$5  

  4) �������/�����  

  5) pH meter ���� �$BECKMAN ��,�$40  

  6) �������$ Spectrophotometer 

  7) �������$Atomic absorption spectrophotometer (AAS) 

        2.2 �����
� 
  1) ����%���15#���7��
/�1���
�$(K2Cr2O7

  2) �'����7���'�$(FeSO

) 

4

  3) "��7��'8��	"�0 
0 �$(Conc. H

)  

2SO4

  4) "��/91������	"�0 
0 �$(conc. HCl) 

) 

  5) "��)��	� (H2BO3

  6) #�
1
����
1
�	)��� ((NH

) 

4)6Mo7O24

  7) #�
1
����
'����/��&$(NH

) 

4

  8) #�
1
����
�%7	���$(NH

F) 

4

  9) 15#���7��
/�/91���4�'���'�$(KH

OAc) 

2PO4

  10) 15#���7��
���/��&$(KCl) 

) 

  11) 1�'!#��1�����$�'��&���7���'�$�	��	������&$ (O-phenanthroline 

ferroussulfate indicater) 

       2.3 �	3�"������� 
  2.3.1) �,����
��:�"����:��,��0���	� 1�����������,���	�$ 10 "��
 (�,��(�          

)�"�"��&0���$ 50 
	��	�	��  ��	
�
��"����$20 
	��	�	��(� #�,�#" ���(� �	�#�%�
���0 �"���	
�/� $        

15 ������(� �0 �"����"$#�%��
��	
�/� $15 ����$#�%����"���
���;��",������,����
��:�"����:��,��  

� ��$electrode � ���
��"������"���
�",��4%��������,��  �������%���/�����,����
��:�"����:��,��  

1��(� $pH-meter (BECKMAN, USA)$)���;"0 �
�� 
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 2.3.2) "���	����%�&���	�����&���2�$(Organic Matter; O.M.) (��	�1���	3�$Walkley 

and Blank  

        2.3.2.1$�����
�  
   2.3.2.1.1) ����%���15#���7��
/�1���
�$( K2Cr2O7

   2.3.2.1.2) �'����7���'�$( FeSO

) 1 N$�����
1��
�%���15#���7��
/�1���
�$����)#� ����������
	$105 ��+��7��7���$���$2 ����1
�$4�����$
49.04 "��
(��
��"��������(�0�����)��	
���0���$1 ,000$
	��	�	��$#� ����)��	
���(� ��:�$
1,000 
	��	�	�� 

4) 0.5 N �����
1���%���$FeSO4.7H2

   2.3.2.1.3) 1�'!#��1�����$�'��&���7���'�$�	��	������&  �����
1��
�%���1�'!#��1�����$1.48 "��
$#�%$�'����7���'�$0.70 "��
$(��
��"����$���)��	
���(� ��:�$
100 
	��	�	�� 

O 

140 "��
$��(��
��"������%
��$600 
	��	�	��$��	
$"��7��'8��	"�0 
0 �$15 
	��	�	��$�	
�(� ��*�$
���)��	
���(� ��:�$1,000 
	��	�	��$� ���
��"���� 

   2.3.2.1.4) "��7��'��	��0 
0 �$(Conc. H2SO4

         2.3.2.2 �	3�"�������$1�����������,���	�����,��<,���%#"��$ 0.5 
	��	�	��  

4����� 0.5 "��
 (�,(�0���
5�, (Erlenmeyer flask) 250 
	��	�	�� ��	
����%���15#���7��
/�
1��
�$(K

) 

2Cr2O7) 1 ��
�� 4����� 10 
	��	�	�� 1��(� 1���
�
��	"�8���$ (volumetric pipette) 

�0�,�0���)�= 4�"��
��	
"��7��'8��	"$(H2SO4) �0 
0 �4�����$20 
	��	�	�� ��/���,�������*�$�0�,�
0���
5�,�)�=$�5���(� �
����"�)�	�<�
�0 �"������%
��$ 1-2 ����$(�����	
"��(��� ������� ) #� �
��
��	
�/� ����-	"	�	��"��$ 30 ����$#� ���	
�
��"����$ 50 
	��	�	��$���/�/�����"�)�'����7���'�$
(FeSO4) 0.5 $$$$��
�� 1�����1�'!#��1�����$�'��&���7���'�$�	��	������&$$��/�$ 5 ��� �0�,�
0���
5�,$���/�/����������4�����%����������4�"���0�����:����
�������#��  �,��"�����$
blank �����
0 �$2-4 1��/
,(�,�	���"$ 2 0��$�5��������
�0 
0 ����#� 4�	�0��$ FeSO4

 

$)���;"
��	
������(� #� ������������
�0 
0 ���
����

N1V1 = N2V

 

2 

  $�
��� N1     =   ���
�0 
0 �0��$K2Cr2O7 

   V

$���(�  
1      =  ��	
���0��$K2Cr2O7 

   N

$���(�  
2     =  ���
�0 
0 �0��$FeSO4$$���(� /����� 
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   V2      =  ��	
���$$FeSO4

 

$���(� /����� 

#�%����������	
���	��������2�(������,���	�$1��(� ����$ 
 

% organic carbon = (meK2Cr2O7 -me FeSO4

                   �
�����"�	�$("��
) 

) × 0.003 × 100 × 1.33 × MF 

      % organic matter = % organic carbon x 1.72 

 

                         MF         = (100 - % moisture) / 100 

$�
���$         V           = ��	
���0��$FeSO4

               N.FeSO

$���(� /�����$(
	��	�	��) 

4 = ���
�0 
0 ����#� 4�	�0��$FeSO4

               0.003      = �
�����"0��$one equivalent carbon ("��
) 

       

               1.33        = oxidation factor 

               MF          = moisture factor 

  

2.3.3) "���	����%�&��	
��'��'����(��	�$1���	3�$Bray II 

         2.3.3.1) �����
� 
   2.3.3.1.1) �
�����"�� Bray II$�����
4�"�%���#�
1
����
'����/��&$
(NH4

   2.3.3.1.2) ���5�>���� 1������"��#�����&)	"$1.5 "��
$�%���(�
����%�����?�"#�
1
����
1
�	)���$100 
	��	�	�� 

F) 2.22 "��
$(��
��"����$1,900 
	��	�	��$��	
"��/91������	"�0 
0 �$( conc. HCl) ��/�$$$$$$
17 
	��	�	��$�0�,�(� ����%����0 �"��$�	
�/� (� ��*�$���) �,����
��:�"����:��,�� $(� ���,�%��,��$
1.5-1.6 #� ����)��	
���(� ��:�$2 �	�� 

   2.3.3.1.3) ����%���
���6��'��'����$50 ppm$����15#���7��
$$$$$$$$$$$$$
/�/91���4�'���'�$( KH2PO4

       2.3.3.2) �	3�"�������  

) 0.2195 "��
$����)#� �#� ����������
	$105 ��+��7��7���$���$$$$$$$$$$$
2 ����1
�$�%���(��
��"����$400 
	��	�	��$��	
"��7��'8��	"$3.5 M  25 
	��	�	�����)��	
���(� 
��:�$1 �	��$� ���
��"����$�"*)����%�����
/� (�0��#" � 
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    2.3.3.2.1) ���������,���	�$2.5 "��
 (�,��(�0������
5�,$125 
	��	�	����	

�
�����"��$Bray II 25 
	��	�	�� � ���8��� �8�0������
5�,� ��4�"���$#� ����/����)���������0�,�$
�0�,����$1 ���� #� ����/�"���� ��"�%��."����)��&$1 

 2.3.3.2.2) �������%������"���/� $��	
���$ 1 
	��	�	��  ����(�0�����
��	
���$25 
	��	�	��$#� ��0�,�  ��	
����%���"��)��	�  (H2BO3) 15 
	��	�	�� #� ��0�,� 4�"��
�
��	
���<�
(�"�����)��$5 
	��	�	���0�,�(� ����%����0 �"��$���)��	
���� ��  H2BO3

   2.3.3.2.3) ��	
��'��'���������:���%1���&$(mg/kg)  

$��:� 25 


	��	�	�� �8�4�"�0�,� #� ����/��,���,�"�����"���#��� ���������  spectrophotometer (Janway, UK) 

����,�"�����"���#�����/� /��,���,�4�""��'
���6�� 

 

Available P = (mg/kg sample– mg/kg blank) × 25 × 25 

                         V     Ws 

�
���$mg/kg sample = ���
�0 
0 �0�������,������,��/� 4�""��'
���6��$
             mg/kg blank    = ���
�0 
0 �0����������)����) 

                                Ws      = �
�����"0�������,���	�$("��
) 

                     V       = ��	
���0�������,�����(� $(
	��	�	��) 

   

  2.3.4) "���	����%�&����	
��15#���7��
(��	� 

         2.3.4.1) �����
� 
   2.3.4.1.1) #�
1
����
�%7	���$(NH4

   2.3.4.1.2) ����%���
���6��15#���7��
$1,000 ppm$1������
15#���7��
���/��&$( KCl) ����)#� �#� ����������
	$100 ��+��7��7���$���$24 ����1
�$1.9066 

"��
$�%���(��
��"����$���)��	
���(� ��:�$1 �	��� ���
��"���� 

OAC 1 ��
��, �,����
��:�"��
��:��,����,�"�)  7) 1������#�
1
����
$�%7	���$154.16 "��
$�%���(��
��"����$����(�0�����)
��	
���0���$2 �	��$���)��	
���(� ��:�$2 �	��$���) �,����
��:�"����:��,��  (� /� ��:�$
7.01±0.05  
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      2.3.4.2) �	3�"������� 
   2.3.4.2.1) �����������,���	�����"��#� �
����(� �4��4��$ 10 ��,�$$$$$$$$$$$$$$$$$$$$
� ��#�
1
����
�%7	���$(NH4

   2.3.4.2.2) �����������,���	�#�%��������)����)/��������	
��
15#���7��
#�%17����
$(� $FES-mode 1���������$AAS 4�"��
����
�������1��(� ���������
$

OAC) 1 ��
��$

 

��	
��15#���7��
  =    (mg/kg sample–mg/kg blank)   ×        25        ×   ��	
����
��
�$$$ 
                  �
�����"�	�    ��	
��������,�����(�  
�  

3. "���	����%�&��	
��3��������(����"�#' 

        3.1) "���	����%�&��	
��/�1���4���
��
� 

3 1.1) �����
� 
               3.1.1.1)$)��	"#�7	��	��	������&$(boric acid indicator) 

              3.1.1.1.1 )$�	��	������&<�
$1���%���)��
���7��"���$
(bromcresol green) 0.5 "��
$#�%�
3	����$( methyl red) 0.1 "��
$(���3	�#��"�9��&$���
�0 
0 �$
95$����&�7*��&$��	
���$100 
	��	�	�� 

              3.1.1.1.2) "��)��	"$( H3BO3

              3.1.1.1.3) ��	
�	��	������&<�
$(0 �$ 3.1.1.1.1) ��	
���$5 
	��	�	��$$$$
��(�0 �$3.1.1.1.2 

) 1���%���"��)��	"$40 "��
$$$$$$$$$$$
(��
��� ��$700 
	��	�	��$��
��	
�/� (� ��*�$ 

              3.1.1.1.4)$���)��	
���� ���
��"����$4�
���	
���$1 �	�� 

   3.1.1.2) 17����
/9���"/7�&���
�0 
0 �$40% 1���%���17����
$$$$$$$$
/9���"/7�&$400 "��
$(��
��"����$1 �	��$(������(��� �������) 

             3.1.1.3) "��7��'��	"�0 
0 � (H2SO4

   3.1.1.4) /91���4�����&��"/7�&$(H
) 

2O2

  3.1.2) �	3�"������� 
) 

   3.1.2.1) "���,�������,�� 
   ���������,��5���)#� ����)��%�������%
�� 0.05 "��
$(�,��(�����
�����$4�"��
���	
"��7��'��	"�0 
0 �  (H2SO4) 1 
	��	�	��$�8������ ��5���'8�&
�	
�/� $ 1 ���$   
����,�
����
��,���������,�������,��$$���)������
	���$ 180 ��+��7��7���$���$ 10 ���� �������
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�����0;
�
�5�"�	
�/� (� ��*�#� ���	
/91���4�����&��"/7�&$ (H2O2) �����%$ 0.3 
	��	�	��$      
�@A�(� �0 �"��$$���
��,���,�1�����)������
	$ 230 ��+��7��7���$���$ 30 ����$$��"����%������
/
,(�(� ��	
/91���4�����&��"/7�& (H2O2) 

3.1.2.2) "��"����$

 �����%$0.2  
	��	�	��$$#� ����/��,���,����������
	$
230 ��+��7��7���$$30 ����$$���7
����	
4�"�%��������%���(�$����4�"��
��	
�/� (� ��*�#� ���	
�
��
"����$5 
	��	�	��$�	
�/� $ 1 ���$����,�
����
����)��	
�����:�$ 50 
	��	�	��$$�"*)����%������/� /� 
(�0��5����	"$�"*)/� ���������
	� ��$������)�	����%�&�,�/�$

             3.1.2.2.1) ��8��������"����#�%� ���������"����$1 ���
�$� ���
��"���� 

              3.1.2.2.2) ��	
)��	"#�7	��	��	������& ��%
��$15 
	��	�	�� ��(�
0�����"���0���$ 125 
	��	�	�� ���/�����������0���������"����1��(� ����4�,
���,(�)��	"#�7	�
�	��	������& 

            3.1.2.2.3) �8�������%��������,��5�����/� 4�""���,������� ��
"��7��'8��	" (conc. H2SO4

            3.1.2.2.4) ��	
17����
/9���"/7�& (NaOH) ���
�0 
0 �$ 40% 

��	
���$1 
	��	�	�� 

) ��	
���10 ml ��(�����"����$(distillation tube) 

            3.1.2.2.5) "������:�����$4 ���� 
3.1.2.3) "��/����� 

            3.1.2.3.1) /���������%���4�""��"����� ������%���
���6��
"��7��'8��	"$0.02 ��
�� 4�������%����������4�"���0�����:���
,��#�� 

                     3.1.2.3.2) )���;"��	
���"�����(� �5�������������	
��
/�1���4�  

 

��	
��/�1���4�(������,��5��$(����&�7*��&) =  (Vs  -  Vb)  x N x 0.014 x Vd x100

                        W x Va 

  

 

�
���$$Vs = ��	
�������%���
���6��"��7��'8��	"���(�,/����������,��$(
	��	�	��) 

                 Vb = ��	
�������%���"��7��'8��	"���(� /�����$blank (
	��	�	��) 

                      N  = ���
�0 
0 �"��7��'8��	"
���6��$(0.02 ��
��) 

                 Vd = ��	
�������%��������,��5�����/� 4�""���,������$(
	��	�	��) 

                W  = �
�����"�����,��5��$("��
) 
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                 Va = ��	
�������%��������,��5�����(� (�"���	����%�&$(
	��	�	��) 

 

3.2) "���	����%�&��	
��'��'����(�5�� 

      3.2.1) �����
� 
    3.2.1.1)$����%���
���6��"��7��'8��	"���
�0 
0 �$0.02  ��
��$$$$$$$$$$$
1���%���"��7��'8��	"���
�0 
0 �$1  ��
�� ��	
���$20 
	��	�	��$(��
��"����#�%���)��	
���
(� ��:�$1 �	�� 

    3.2.1.2)$����%����������$(vanadate reagent) 

              3.2.1.2.1) �%���#�
1
����
�������$ (NH4VO3

              3.2.1.2.2) ��	
"������&����	"$( HClO

) 0.25 "��
$$$$$$$$$$
(��
�������$50 
	��	�	��$�	
�/� (� ��*� 

4

              3.2.1.2.3) ���)��	
���� ���
��"����(� ��:�$500 
	��	�	�� 

) ���
�0 
0 �$70% 

��	
���$40 
	��	�	�� 

    3.2.1.3)$����%���1
�	)���$(molybdate reagent) 

                    3.2.1.3.1) �%���#�
1
����
1
�	)���$ [(NH4)2MoO4

    3.2.1.4)$����%���
���6�����
�'��'�������
�0 
0 �$100 ppm 

] 6.25 "��
$
(��
��"����$#�%���)��	
���(� ��:�$500 
	��	�	�� 

              3.2.1.4.1)$���15#���7��
/�/91���4�'���'�$( KH2PO4

              3.2.1.4.2)$�%���15#���7��
/�/91���4�'���'�$0.0439 "��
$
(��
��#�%���)��	
���(� ��:�$100 
	��	�	��$(�"*)/� (��� ��*�) 

) (� 
#� �(����7	������& 

    3.2.1.5) "������&����	��0 
0 �$(HClO4

    3.2.1.6) "��/���	"$(HNO

) 

3

    

) 

 

     3.2.2) �	3�"������� 
3.2.1.7) "��/91�����	"$(HCl)         

  3.2.2.1) "���,�������,�� 
     ���������,��5���)#� ����)��%�������%
��$ 0.05 "��
$(�,��(�

���������$��	
"������&����	��0 
0 �$ (HClO4)  0.4  
	��	�	�� #�%"��/���	"$ (HNO3)          

0.5$
	��	�	��$��
�����)$$�@A�(� �0 �"��$�8������ ��5���'8�&
$�	
�/� $ 1 ���$4�"��
����
��,�����
������
	$100 ��+��7��7���$�5���/�,������������0��$  NO2

-  ��"(� �
�$ 4;����)�5	�
������
	��:�$
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210 ��+��7��7���$�	
�/� 4������,��#� �$�%�����,�(� /�
 $�����"
��	
�/� (� ��*�#� ���	

����%����4��4��$(HCl:H2O ������,�� 1:4) �����%$1 
	��	�	��$�@A�(� �0 �"��$$4�"��
����
���
�
)�������������
	$100 ��+��7��7���$���$5 ����$�5���/�,$Cl- 

  3.2.2.1) �8�������%��������,��5�����/� 4�""���,������� ��"��<�
$
(HNO

 �	
�/� (� ��*�#� ����
����)��	
���
��:�$50 
	��	�	��$��(�,0��5����	"�"*)/� ���������
	� ��$������)�	����%�&�,�/� 

3$#�%HClO4

   3.2.2.2) ��	
����%����������$��	
���$5 
	��	�	�� �0�,�(� �0 �"�� 

)$��	
���$5 
	��	�	�� ��(���������� 

   3.2.2.3) ��	
����%���1
�	)��� ��	
���$5 
	��	�	�� �0�,�(� �0 �"�� 

   3.2.2.4) ��������	
�/� ��,��� ��$30 ���� 
   3.2.2.5) ������
�0 
0����� ��������� spectrophotrometer$������
��������$

420 ��1��
��$
  3.2.2.6) �����
�0 
0 �0��'��'����4�""��'
���6��$1������,�

���"���#��������/� /������)����)"�)"��'
����6�� 

   3.2.2.7) ����������	
��'��'����(������,��5�� 

 

��	
��'��'����(������,��5��$(ppm)  = 

          W x Va 

(C x Vf) x Vd 

  ��	
��'��'����(������,��5��$(����&�7*��& )  = (C x Vf )x Vd x 10-4 
                 

  

W x Va 

�
���$C = ���
�0 
0 �'��'����4�""��'
���6��$(ppm) 

                    Vf = ��	
������� ��$(15 
	��	�	��) 

      Vd = ��	
�������%��������,��5�����/� 4�""���,������$(50 
	��	�	��) 

    W = �
�����"�����,��5��$(
	��	�	��) 

               Va = ��	
�������%��������,��5�����(� (�"���	����%�&$(5 
	��	�	��) 

 

      3.3) "���	����%�&15#���7��
 

 3.2.2) �	3�"������� 
  3.2.2.1) "���,�������,�� (� �	3�"���,����,������"�)"���,��3���'��'����$
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  3.3.1) ���)���
�0 
0 �0������%��������,��1���8�������%��������,��
�$
0.5 
	��	�	�� #� ����)��	
�����:�$50 
	��	�	�� � ��$volumetric flask 0���$50 
	��	�	�� 

 3.3.2) ���"�����,�#��0������%��������,��$� ��������� AAS ������
��������$766.5   

��1��
��$
 3.3.3) �����
�0 
0 �0��15#���7��
4�""��'
���6��$1������,�"��

���,�#��������/� /������)����)"�)"��'
���6�� 

  3.3.4) ����������	
��15#���7��
(������,��5�� 

 

��	
��15#���7��
(������,��5��$(ppm) =  

                    W 

(Cs x Cb) x Vd 

��	
��15#���7��
(������,��5��$( % ) =  (Cs – Cb) x Vd x 10-4 

 

 �
���$Cs  = ���
�0 
0 �0��15#���7��
����%��������,��5��4�""��'
���6��$(ppm) 

                                                                                     W 

                     Cb  =  ���
�0 
0 �0��15#���7��
(�$blank 4�""��'
���6��$(ppm)   

                     Vd  =  ��	
�������%��������,��5�����/� 4�""���,������$(50 
	��	�	��) 

                      W  =  �
�����"�����,��5��$("��
) 
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��������� 


�� '����$#��� �	��+,���)*!��$��(-��
.�
�/ 

 

��������<��"����1 ����%�����"�#'��	�<������*4���$6 ���� ��
 

�����)���$ ���� �"�#'$ 0���))�4� 
("��
) 

�,��<�
<�	����B& �
������$

1 ���"�#'$15����$$$ 100 "�#'1�)��� ����� 

"�#'����)	" ����� 

�
�*�"�#'�	)$

<�	�(���%��+$

2 ���"�#'$�����5 100 "�#'1�)��� ����� 

"�#'����)	" �����$
<�	�(���%��+$

3 
��1��,�$7����$$ 150 "�#'1�)��� �����$100% <�	�(���%��+ 

4 )����
$��� 150 "�#'1�)��� ����� 100% ����0 �4�"��%��+
)��7	�$

5 �0��,��$<�
��	��"�*� 150 "�#'1�)��� �����$92% 

�����
�$8% 

<�	�(���%��+ 

6 1���
�)��$���$��	1) 100 "�#'���)	" ����� 100% ����0 �4�"��%��+
����
�� 
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��������� 

�
�*��	
�0��#�����*��� (12345365�7869:) 
 

 
 

��������������1 �
�*�	
�0��#��(�
���*����
 

 
 

������������� 2 ;�
��;	)�
�#����
����
�'��/
���+���*����;$��HPLC 
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����������
�"���
����
�'������)/
/
�����(<�	� 

 

��������<��"����2 <��	����%�&���
#������0����	
�����'���(�"�#'��	�<������*4���$$

 

 

��������<��"����3 <��	����%�&���
#������0��"��)�#�%"�������,���	
�����'����
$$$$$(����"�#'���)	" �$

�
��������<��"��� 4 <��	����%�&���
#������0��5��3�&#�%�,��C���"*)�"����<�<�	���	
���

$$$$$���'���(����"�#'���)	" �$

�

1=867: DF SS MS P F 

Brands 5 90.835    18.1670     39.3    0.0000 

Error 54 24.944     0.4619   

Total 59    115.779    

1=867: DF SS MS P F 

Grind 1 0.47686    0.47686    368.54    0.0000 

Roasted 3 1.55306    0.51769    400.09    0.0000 

Grind× Roasted 3 0.02630    0.00877     6.78    0.0037 

Error 16 0.02070    0.00129   

Total 23 2.07693    

1=867: DF SS MS P F 

Varieties 3 1.1029 0.36763 42.80 0.0000 

Harvesting periods 2 10.7619 5.38094 626.48 0.0000 

Varieties× Harvesting periods 6 0.0601 0.01001 1.17 0.3269 

Error 168 1.4430 0.00859   

Total 179 13.3679    
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/
'��	���>�#����
 

 

!����-�(�
 � �  �����	��"$+��
�� 

 

�����$����/?���$�   16 �	����
 2527 

 

/
'��	���
�@����
� �����*4"��+;".�
�3�
+;".��������$ 1�������#
,�	
�	����
$

4�����������(�
,$�!"��+;".�$2544 

 �����*4"��+;".���	DD��	���+����)��B	�$����	��5�����$

���	�����������(�
, 4�����������(�
,$�!"��+;".�$2548 

 

 

 

 


